



73	-	-	-	-	-	-	-	-	-	-	-
74	-	-	-	-	-	-	-	-	-	-	-
159E	-	-	-	-	-	-	-	-	-	-	-
251	-	-	-	-	-	-	-	-	-	-	-
262	-	-	-	-	-	-	-	-	-	-	-
271	-	-	-	-	-	-	-	-	-	-	-
G*	audiui	autem	-	-	-	-	surgens	petre	occide	&	manduca
G^2	<i>audiui</i>	<i>autem</i>	-	uocē	dicentē	mihi	surge	<i>petre</i>	<i>occide</i>	&	<i>manduca</i>
A	audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
I	audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
F	audiui	autem	et	uocem	dicentē	mihi	surge	petre	occide	et	manduca
S	audiui	aū	&	uocē	dicen<illeg.> < >	mihi	surge	p&re	occide	&	manduca
N	audiui	aūt	&	uocē	dicentē	mihi	surge	petre	occide	&	manduca
Π^F	audiui	aū	&	uocē	dicentē	mihi	surge	petre	occide	&	manduca
ρ^W	-	-	-	-	-	-	-	-	-	-	-
ρ^W MO	-	-	-	-	-	-	-	-	-	-	-
ρ^P	-	-	-	-	-	-	-	-	-	-	-
ρ^V	-	-	-	-	-	-	-	-	-	-	-
ρ^A	-	-	-	-	-	-	-	-	-	-	-
ρ^S	-	-	-	-	-	-	-	-	-	-	-
ρ^D	-	-	-	-	-	-	-	-	-	-	-
Γ^A	audiui	autē	et	uocē	dicentem	mihi	surge	petre	occide	et	manduca
Γ^M	audiui	auī	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
μ^B	-	-	-	-	-	-	-	-	-	-	-
μ^A	-	-	-	-	-	-	-	-	-	-	-
O	Audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
Z^M*	audiui	aū	&	uocem	-	mihi	surge	petre	occide	&	manduca
Z^M2	<i>audiui</i>	<i>aū</i>	&	<i>uocem</i>	dicentē	<i>mihi</i>	<i>surge</i>	<i>petre</i>	<i>occide</i>	&	<i>manduca</i>
Z^W	audiui	autem	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
Z^C	audiui	autem	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
Z^P	audiui	autē	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
Q	audiui	autem	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
M	audiui	auī	&	uocē	dicentē	mihi	surge	petre	occide	&	manduca
Θ^A	audiui	autem	&	uocē	dicentem	mihi	surgens	petre	occide	&	manduca
Θ^M	audiui	autem	&	uocem	dicentem	mihi	surgens	petre	occide	&	manduca



$\theta^{\wedge}V^*$	audiui<ras.>	auť	-	uocē	dicentē	mihi	surge	petre	occide	et	manduca
$\theta^{\wedge}V2$	audiui	<i>auť</i>	-	<i>uocē</i>	<i>dicentē</i>	<i>mihi</i>	<i>surge</i>	<i>petre</i>	<i>occide</i>	<i>et</i>	<i>manduca</i>
$\theta^{\wedge}B$	audiui	aū	&	uocē	dicentē	mihi	surge	p&re	occide	&	manduca
$\Phi^{\wedge}E$	audiui	autem	&	uocem	dicentē	mihi	surge	p&re	occide	&	manduca
$\Phi^{\wedge}T$	audiui	autē	et	uocē	dicentē	mihi	surge	p&re	occide	et	manduca
$\Phi^{\wedge}M$	audiui	autē	et	uocē	dicentē	mihi	surge	petre	occide	et	manduca
$\Phi^{\wedge}Z$	audiui	autem	et	uocem	dicentem	michi	surge	petre	occide	et	manduca
$\Phi^{\wedge}G$	audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
$\Phi^{\wedge}R$	audiui	autem	et	uocem < >	dicentem	mihi	surge	petre	occide	et	manduca
$\Phi^{\wedge}B^*$	audiui	auť	et	uocem	dicentem	michi	surge	petre	occide	et	manduca
$\Phi^{\wedge}B2$	<i>audiui</i>	<i>auť</i>	<i>et</i>	<i>uocem</i>	<i>dicentem</i>	<i>mihi</i>	<i>surge</i>	<i>petre</i>	<i>occide</i>	<i>et</i>	<i>manduca</i>
$\Phi^{\wedge}V$	audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	&	manduca
$\Psi^{\wedge}L$	-	-	-	-	-	-	-	-	-	-	-
$\sigma^{\wedge}W$	audiui	aū	&	uocem	dicentē	mihi	surge	p&re	occide	&	manduca
$\sigma^{\wedge}R$	audiui	aū	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
$\sigma^{\wedge}H$	audiui	autem	&	uocem	dicentem	mihi	surge	petre	occide	&	manduca
$\sigma^{\wedge}U$	audiui	auť	&	uocem	dicentem	mihi	surge	p&re	occide	&	manduca
$\lambda^{\wedge}M^*$	audiui	autem	&	uocem	dicentem	mihi	surge<ras.>	p&rae	<ras.>ccide	&	manduca
$\lambda^{\wedge}M2$	<i>audiui</i>	<i>autem</i>	&	<i>uocem</i>	<i>dicentem</i>	<i>mihi</i>	<i>surge</i>	<i>p&re</i>	<i>occide</i>	&	<i>manduca</i>
$\lambda^{\wedge}P$	audiui	autē	&	uocem	dicentē	mihi	surgens	petre	occide	&	manduca
$\Lambda^{\wedge}L$	audiui	aūm	&	uocem	dicentem	mihi	surgens	petre	occide	&	manduca
$\Lambda^{\wedge}H^*$	audiui	autem	et	uocem	dicentem	m'	surge<ras.>	petre	occide	et	manduca
$\Lambda^{\wedge}H2$	<i>audiui</i>	<i>autem</i>	<i>et</i>	<i>uocem</i>	<i>dicentem</i>	<i>m'</i>	<i>surge</i>	<i>petre</i>	<i>occide</i>	<i>et</i>	<i>manduca</i>
C	audiui	autem	et	uocem	dicentem	mihi	surgēs	petre	hoccide	et	manduca
$\Sigma^{\wedge}T$	audiui	autem	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
$\Sigma^{\wedge}C$	audiui	auṁ	et	uocem	dicentem	mihi	surge	petre	occide	et	manduca
$\Sigma^{\wedge}O$	audiui	auť	&	uocem	dičtē	m'	surge	petre	occide	&	manduca
$\Delta^{\wedge}L$	audiui	aūm	et	uocē	dicentem	mihi	surgens	petre	occide	et	manduca
$\Delta^{\wedge}M$	audiui	aūm	et	uocem	dicentem	mici	surgens	petre	occide	et	manduca
$\Delta^{\wedge}B^*$	audiui	aūm	-	uocem	dicentem	mihi	surge	petre	occide	et	manduca
$\Delta^{\wedge}B2$	<i>audiui</i>	<i>aūm</i>	-	<i>uocem</i>	<i>dicentem</i>	<i>michi</i>	<i>surge</i>	<i>petre</i>	<i>occide</i>	<i>et</i>	<i>manduca</i>
X	audibi	auṁ	-	uocem	dicentem	mihi	surge	petre	occide	et	manduca
$\kappa^{\wedge}V$	audiui	auť	et	uocē	dičtē	m'	surge	p<illeg.>	occide	et	māduca
$\Omega^{\wedge}W$	Audiui	autem	et	uocem	dicentem	michi	surge	petre	occide	et	manduca